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1208 

I YEAR (T.D.C.) SCIENCE EXAMINATION, 2018 

CHEMISTRY 

Paper -II    

ORGANIC CHEMISTRY 

Time: Three Hours 

Maximum Marks: 50 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 10] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 25] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.¼[k.¼[k.¼[k.M & l½M & l½M & l½M & l½      [Marks: 15] 

Answer any two questions (500 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 500 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M& v& v& v& v    
Q.1 (i) Arrange the following free radicals in decreasing order of stability.  

  ( ) ( )    HC ,C CH  ,HC  HC  H,C  CH 3332323
&&&&&  

  fn, x, eqDr ewydksa dks ?kVrs gq, LFkkf;Ro ds Øe esa tek,¡&  

  ( ) ( )    HC ,C CH  ,HC  HC  H,C  CH 3332323
&&&&&  

 (ii) How many alpha (α) hydrogens are there in.  

  ( ) ( )
++
CCH, HCCH

3323  

  fuEu esa vYQk ¼α½ gkbMªkstu dh la[;k crk,aA  

  ( ) ( )
++
CCH, HCCH

3323  

 (iii) Arrange the carbanions in decreasing order of stability.  

  HC≡C , H2C=CH-CH2 , H2C = CH  

  fuEufyf[kr dkcZ,sfu;u dks LFkkf;Ro ds ?kVrs Øe esa yxk,¡& 

  HC≡C , H2C=CH-CH2 , H2C = CH 

 (iv) Which of the following is aromatic? 

  fuEu esa ls ,jksesfVd ;kSfxd gS& 

    

    

 

 

 (v) Draw structure of fumaric acid.  

  ¶;wesfjd vEy dh lajpuk cukb;sA  

 (vi) Write chemical formula of Frankland Reagent.  

  QSadySaM vfHkdeZd dk lw= fyf[k,A  

 (vii) Write IUPAC name of isoprene.  

  Vkblksizhu dk IUPAC uke fyf[k,A  

••
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 (viii)  Give two examples of activating groups.  

   lfØ;.kdkjh lewg ds nks mnkgj.k fyf[k,A  

 (ix) Write full form of DDT.  

  DDT dk iwjk uke fyf[k,A  

 (x) Define Dihedral angle.  

  f}Qydh; dks.k dks ifjHkkf"kr dhft,A   

PART – B @ @ @ @ [k.M[k.M[k.M[k.M& & & & cccc    

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 (a) Explain mesomeric effect with examples.           (2+2+1=5) 

  eslksesjh izHkko dks mnkgj.k lfgr le>kb,A   

 (b) Explain why boiling point of O-nitrophenol is less than P-nitrophenol?  

  O- ukbVªksfQuksy dk DoFkukad P- ukbVªksfQuksy dh rqyuk esa de D;ksa gksrk gS\   

 (c) Which one of the given acids is more acidic than other and why?  

  Cl3CCOOH and F3CCOOH   

  fuEu esa ls dkSu lk vEy vf/kd vEyh; gS\  

  Cl3CCOOH and F3CCOOH  

Q.3 Explain the stability of given intermediate-         (1¼×4=5) 

 (i) Carbanion  

 (ii) Free radical  

 (iii) Benzyne  

 (iv) Nitrenes   

 fuEu e/;orhZ ds LFkkf;Ro dks le>kb;sA  

 (i) dkcZ,sfu;u  

 (ii) eqDr ewyd 

 (iii) csatkbu  

 (iv) ukbVªhu  
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UNIT –II@@@@    bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 (i) Explain elements of symmetry and its type with examples.            (3+2=5) 

  Lkefefr ds rRo rFkk blds izdkj dks mnkgj.k lfgr le>kb;sA   

 (ii) Explain rotational isomerism briefly.   

  ?kw.kZuh leko;ork dks laf{kIr esa le>kb;sA  

Q.5 Draw the structure of the following-              (1×5=5) 

 (i) (R)-2- chloro butane 1, 2- diol.  

 (ii) (2S, 3S) -2, 3- dichloropentane  

 (iii) (E)-2- pentene  

 (iv) (Z)-2-methyl-2-pentene  

 (v) (Z)-1-bromo-2-chloro-2-iodoethene  

 fuEufyf[kr dh lajpuk cukb,&  

 (i) (R)-2- Dyksjks C;wVsu 1]2 Mk;ksy  

 (ii) (2S, 3S) 2] 3&MkbDyksjksisUVsu  

 (iii) (E)-2- isUVhu  

 (iv) (Z)-2- esfFky&2&isUVhu  
 (v) (Z)-1- czkseks&2 Dyksjks&2&vk;ksMks,sFkhu  

UNIT –III@@@@    bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 (i) Explain free radical mechanism of alkanes.        (2+2+1=5) 

  ,sYdsuksa dh eqDr ewyd fØ;kfof/k dks le>kb,A 

 (ii) Explain Reactivity and Selectivity.  

  vfHkfØ;k’khyrk ,oa oj.kkRedrk dks le>kb;sA  

 (iii) Why alkynes are less reactive than alkenes?  

  ,sYdkbu] ,sYdhu ls de fØ;k’khy D;ksa gksrs gSa\  

Q.7 (i) Why alkenes are called olefins?         (1+2+2=5) 

  ,sYdhu dks vksfyQhu D;ksa dgk tkrk gS\  

 (ii) Explain E1 and E2 reactions with mechanism.  

  E1 o E2 vfHkfØ;kvksa dh fØ;kfof/k dks le>kb;sA  

 (iii) Explain Diels - Alder reaction.  

  MhYl ,sYMj vfHkfØ;k dks le>kb;sA  
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UNIT –IV@@@@    bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Explain Friedal Craft reaction in detail.                                                                    (5) 

 fÝMsy&Øk¶V vfHkfØ;k dks foLrkj ls le>kb;sA  

Q.9 Identify the Product -             (1×5=5) 

 mRikn dks igpkfu,& 

   

 (i)  

 

  

 (ii)  

   

 

 (iii)       

 

 (iv)     

   

 (v)      

UNIT –V@@@@    bdkbZ bdkbZ bdkbZ bdkbZ – V 

 

Q.10 (i)                 (3+2=5)                  

                                     

   

     

  

 C2H6O is an alcohol, complete the reaction and identify the product from A to  D.   

O O 3O
?

O
Na

?

OHHC ,NH .liq 523

3CH

O
22CCrO l

?

3CHCO −=

O H4+
Zn/Hg

lHC
?

lCOCCH3+ ?3CA ll
O

D

5PCl KCN Complete

Hydrolysis

Hydrolysis   Partial

OH2 2

OH2

CBAOHC 62
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 C2H6O   ,d ,sYdksgy gS] vfHkfØ;k dks iw.kZ djrs gq, A ls D rd mRikn igpkfu,A  

(ii) Why alkyl halide on reaction with KCN and AgCN gives different products? Give 

reason.  

 ,syfdy gSykbM KCN rFkk AgCN ds lkFk vfHkfØ;k djus ij vyx&vyx mRikn D;ksa 

cukrs gSa\ dkj.k crkb,A 

Q.11 Identify the product-                                                                                         (1×5=5) 

 mRikn igpkfu,&  

  

 (i)       

  

 (ii)    

  

 (iii)    

  

 (iv)      

  

 (v)    

 

D

5PCl KCN  ty vi?kVuiw.kZ

ud ty vi?kVvkaf'

OH2 2

OH2

CBAOHC 62

k

O

lC

Mg

THF
?

OO +

lCCH2 −

3CA ll
?

lCCHCHCH 223+ 3CA ll
?O

?O

lC

H2+ lANi −
NaOH

Br

O KCN+
CuCN

nkc,C200°
?
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PART – C @ @ @ @ [k.M[k.M[k.M[k.M& & & & llll 

Q.12 Write a short note on the following-                                                           (1½×5=7½) 

 (i) Localised and Delocalised bond  

 (ii) Hyper conjugation  

 (iii) Crossover experiment  

 (iv) Isotopic effect  

 (v) Rearrangement reaction   

 fuEufyf[kr ij la{ksi esa fVIif.k;k¡ fyf[k,&  

 (i) LFkkuhdr̀ rFkk foLFkkuhdr̀ cU/k   

 (ii) vfrij la;qXeu  

 (iii) Økl&vkWoj ;k ikjxeu iz;ksx  

 (iv) leLFkkfud izHkko  

 (v) iqufoZU;kl vfHkfØ;k,¡  

Q.13 Write a short note on-                                                                                 (1½×5=7½) 

 la{ksi esa fVIif.k;k¡ fyf[k,&  

 (i) Configuration and conformation  

  foU;kl o la:i.k 

 (ii) Axial and equitorial bonds in cyclohexanes  

  lkbDyksgsDlsu ds v{kh; o fuj{kh; gkbMªkstu cU/k 

 (iii) Asymmetric synthesis  

  vlefer la’ys"k.k 

 (iv) Geometric isomerism  

  T;kferh; leko;o   

 (v) Newman projection formula of ethane  

  ,sFksu dk U;wesu iz{ksi lw=A 
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Q.14 Explain the following-                                                                     (2+1½+2+2=7½) 

 fuEu dks le>kb;s&  

 (i) Markovnikov’s rule  

  Ekkjdksuh dkWQ fu;e    

 (ii) Acidity of alkynes  

  ,sYdkbu dh vEyh;rk  

 (iii) Hydroboration of alkenes  

  ,sYdhu dk gkbMªkscksjhdj.k  

 (iv) Baeyer strain theory  

  cs;j dk ruko dk fl)kUr  

Q.15 Explain-                                                                                            (4½+1½+1½=7½) 

 le>kb;s &  

 (i) SNl and SN2 in detail.  

  SN1 o SN2 dks foLrkj ls le>kb;sA  

 (ii) Balz – schiemann  reaction  

  ckWYt+’kheku vfHkfØ;k 

 (iii) Hundsdiecker reaction  

  gqaLMhdj vfHkfØ;k  

Q.16 How to convert the following?                                                                   (1½×5=7½) 

 fuEufyf[kr dks dSls ifjofrZr djsaxsa\  

 (i) Propyne to mesitylene 

  izksikbu ls esflfVyhu  

 (ii) Benzene to maleic anhydride  

  csathu ls esysbd ,ugkbMªkbM  

 (iii) Benzene to Glyoxal  

  csathu ls XykbvkWDlsy   

 (iv) Benzene to Gammexane  

  csathu ls xSesDlsuk 

 (v) n-hexane to benzene  

  n&gsDlsu ls csathu  

----------------------------------------- 


